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2BEINA 60, 000 34, 500 25, 500
SHBSULA 0 0
BHIRULA 140, 000 331,210 -191, 210
REREBBSIIA 30,377,000 | 30,534,236 -157, 236
ZEERUA 11,376,000 | 11,012, 443 363, 557
EETON 1,279, 000 1,318,380 -39, 380

= IR | &BEUXA 0 0
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K| |mesEsLIA 2,300, 000 2,090, 141 209, 859
Al (=Y -EAZ|EINA 17,293,000 | 16, 393, 920 899, 080
B| |EEREEHSUA 0 0
| | SERISRNSIIA 1,000 4,632 -3, 632
£l |zotouRA 410, 000 316, 669 93, 331
2| [EEEEIOGT (D) 87,088,000 | 84,777,289 2,310, 711
| [ AEESE 62,057,000 | 61,004, 893 1,052, 107
| |EE#zH 9, 856, 000 8, 225, 366 1,630, 634
ERESH 1,293,000 1,042, 349 250, 651
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EEEEERMEARINA 1,000, 000 -1, 000, 000
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Z | | BEEDRHRADIA 250, 000 82, 887 167,113
D] [HERHEHEASIIA 1,042, 000 1,900, 000 -858, 000
| |P—EXEDRHRADUA 1,815,000 0 1,815,000
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TOMMDIEENCS D37 0 0
ZOfbDEEN S HET (8) 3, 173, 000 8,294,938 -9, 121, 938
TOMOEENEEINZEER (9) = (7) — -26, 000 -4, 882, 051 4, 856, 051
Fir&EZt (10) 0
SHIERINSERRGET (11) = (3) + (6 608, 000 364, 060 243, 940
HIIRINERES (12) 0 51,712, 823 -51, 712, 823
SHIRINEEARS (11) + (12) 608, 000 92,076, 883 -51, 468, 883




